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Q.1: igaVl yboill ciuai Skl - dlizell yaibozl §ygally dcgezall bzl

Which of the following is correct regarding the ions

shown in the two figures below?

a) (b}
. S
186 pm 102 pm
Sodium atom (Na)

(Na)peass 553 (Na*)psses bs

[Nel3s' [Nel

Learning Outcomes Covered

o CHM.5.1.01.009

o= fj

Sodium ion (Na*) ~ Chlorine atom (Cl)

Mark(s): 5/5

O] €A 3 damgal) iV (3l e ona S Lo 4

Chloride ion (CI')
(CI) 2515 sl
[Nel3s?3p®or [Ar]

Chlorine atom gains an electron, electrostatic repulsion
between the atom’s outer electrons increases, the ion

size increases

Sodium atom gains an electron, electrostatic repulsion
between the atom’s outer electrons increases, the ion

size increases

Chlorine atom loses an electron, electrostatic repulsion
between the atom’s outer electrons decreases, the ion

size decreases

Sodium atom loses an electron, electrostatic repulsion
between the atom’s outer electrons increases, the ion size

increases

(oSl AENYI sl s B pl] Il 53 s
Q) s g 20 2 Al g V)

Sty A lall i U 50 agmgeall 53 Cuss
O] ana 21238 50 A lal) s pSIY) oy

(Solie, pa) alall (Rl By o<l el 55 3
OsY) e it 5,30 B lall il ST

Sy Y1 ALl 258 Uy 5 el 53 s

Osa¥) aaa alaje 5)M A lall 2l SN



Q.2: )91 Jgal DS gy SIVI gy joi e eliy Mark(s): 2.5/5

Correct Answer:

Determine the period and group of an element which sl g Y s A peaiel e gendll 535 5al) sn

has the electron configuration shown below.

[Ar]4s23d104p?

Period 4 &4l

Group 15 dcgoxall

Examinee Answer:

Determine the period and group of an element which ool oY) il Al el de sendl 535l aas

has the electron configuration shown below.

[Ar]4s?3d194p°

Period 4 &,94Jl

Group 5 dcgoxall



Q.3: &dlully da>gall SligVl eSi Mark(s): 5/5

Which of the following is correct regarding Ceagall eVl Bl Lad faa u_“ﬁ:n Laa Lﬁ

positive ion?

Learning Outcomes Covered

o CHM.5.1.02.022

A neutral atom loses one or more valence S il p< e ST o G KT Alslenall 5,30 S5

electrons, and this requires gain of energy il 53l Cleas) @llh (bl

A neutral atom gains one or more valence el el skl e B G sl alalaiall 50l sy
electrons, and this requires gain of energy 4l 53 las! Gl Gl
A neutral atom loses one or more valence B g sl e ST ) Ug <Y Alalanad) 500 sk
electrons, and energy released dalla ey
A neutral atom gains one or more valence Bl g pll e A1 ) Gy €l Ablanall 8550 anass

electrons, and energy released Bl ) g



Q.4: (&Sl @b ) 8)ly=ll yolo pf Byl 3yl duigsll dnylyl eSi

LTilllvie Loli%1 u,’ \I\.U! ] IIUIJ

Mark(s): 5/5

A=Al IPUHI I

808

KF

910

NaF

3795

Learning Outcomes Covered

o CHM.5.1.02.022

Lattice energy of NaF is greater than
lattice energy of KF because Na" ion

is smaller than K* ion

Lattice energy of NaF is greater than
lattice energy of KF because the charge
of the ions in NaF is greater than the charge

of the ions in KF

Lattice energy of MgO is greater than
lattice energy of NaF because Mg®* ion

is greater than Na*

KF €)all 3080 d8la e o8l NaF € all 35020 23l

KF i< a8l e 8l NaF o A<l sl
Lind eyl NaF b cligh) a0y
KF & <l

NaF a<.al 48Ua o 8l MgO A<l a3
Na™ Opl e st Mg (sl 0N



Lattice energy of MgO is greater than lattice ASed) A8l e ST MO Sl A2 231,
energy of NaF because the charge of the ions i NaF ! Cligl) a0y NaF oSl
in NaF is greater than the charge of the ions MgO & Cligh) L s oy
in MgO
Q.5: dlully duzgell Oliglll oS Mark(s): 0/5

The figure below shows the orbital notation of sulfur.  ¢zaus Al Lee (g - QU peatal Gl Saay slsl JC2I s
Which of the following is correct?
1) (1] [ [ [T
——— g—/
1s 2s 2p 3s 3p

Learning Outcomes Covered

o CHM.5.1.02.022

Sulfur atom loses two electrons, and positive S Liaga Ul (5S35 g o<l [LIGE SR

ion $2* is formed

Sulfur atom gains two electrons, and negative 827 Ll Ugdl (45884 oy 1) oyl B) s

ion 82 is formed

Sulfur atom loses two electrons, and negative S77 Ll Bl (sStg g i<l oSl 833 28

ion §2 is formed

Sulfur atom gains two electrons, and positive 82 liaga Uig (155 (g oI Il 553 0

ion 82* is formed



Q.6: duiga¥l DS all @il 5ull yailosdl wle dwigiVl bulgyl 398 il Mark(s): 5/5

Regarding the properties of ionic compounds, which of e Al Laa gl (iigl) LKA pailady Gl Lod

the following is correct?

#loaSl Jengh Wy Allail) 3pa) (558 i LeSlal 3 158 Cilig) (3585 cAiluall Alladl 3 351 (S)))
An ionic compound in the solid state, the ions are locked into fixed positions by strong attractive il

forces, as a result, ionic solids do not conduct electricity.

gl Jeagh Vs Alladll Gl (658 Jods LgiSLel 3 B0 i) G585 eJobaall Alla ) QUL Al 8 S) )

An ionic compound in the liquid state, or is dissolved in solution ,the ions are locked into fixed 2
positions by strong attractive forces and does not conduct electricity.
Aol Lall Ja gy 28l Ba il s sl Alla ) ALLA AN 3 3691 (S5
An ionic compound in the liquid state, or is dissolved in solution, the ions are free to move and 3
conducts an electric current
Learning Outcomes Covered
o CHM.5.1.02.022
a.
1 only Lagd |
2 only L 2

1 and 3 3451

land 2 241



Q.7: dulidl dugaVl OlSyoll 2uo 4US Mark(s): 0/5

The virtual element X belongs to group 2, While the i Lo 2 depenall X nlidY) piatall ot
virtual element Y belongs to group 15 . What is the ‘f'};ﬁﬂ Sl Bpa L 15 dependl MY L'F.:nb:ﬁ\'l peaiall
formula of the ionic compound formed from the two T paiall (e 0585 (53
elements?

Learning Outcomes Covered

o CHM.5.1.01.013

XY



Q.8: )9l JgaxJl Lls Mark(s): 5/5

In the periodic table of the elements below. ool pealiall (5)5all Jganll ]

Learning Outcomes Covered

o CHM.5.1.01.008

Correct Answer:

The number which represents block d is

Examinee Answer:
2 9 d &A;A\ Sia Lﬁh&\ ?EJS\

The number which represents block d is



Q.9: olial glsil - )9l Jgazdl (b dungipll Slssall Mark(s): 5/5

Scientists created this robot that looks and swims Al delica Sy A%aud) anls A Gipgsl) 18 plalall L
like a real fish, its body is made of a silicon resin. FOsS el L] i N paliall £63 Lo L sSbal) Sl (e

What type of elements does silicon belong to?

i

Learning Outcomes Covered

o CHM.5.1.01.008

Transition metals syl cahlal)
[, O, O, O,
1 1
1 1
' '
' Metalloids el olud] '
1 1
1 1
1 1
1 1
L T T T T T T T T T ey |

Noble gases Al b

Nonmetals Sl




Q.10: dalizall yjoilozl) 8)gallg degozall S Mark(s): 5/5

What explains the increase in the first ionization G JEY) wie Y0 bl a8 & B ey (a3 Lo

energy when moving from left to right across a period? €593 L“gi DA paadl Ll

Learning Outcomes Covered

o CHM.5.1.01.009

e |
R 1
1 1
i :
- Increasing the positive charge of nucleus Sloill A goll a2l 5al) '
' '
1 1
| [ |
o e T T T T T T e |

Increasing the number of energy levels Al Gligiea 220 82l

Increasing the number of valence electrons &l cilg <) e Bal)

The increased distance between the outer Blsilly dajladl ulig pEIYT Gy dBLusell BaL)

electrons and the nucleus



Q.11: Eyazdl )92l Jgazdl yghai Mark(s): 5/5

Which of the following is one of Mendeleev's 065l Jpaall sk b Cidvia cilaalisa (3o Sl Laa (4]

contributions to the development of the periodic table?

Learning Outcomes Covered

o CHM.5.1.01.008

Divided the elements of the periodic table into il D @l al ) gl Jsanll sealic o8
four categories: gases and metals and B yealially
nonmetals and earths

Named the periodic relationship that he Lkl Jalsall A Leha Al dyeall ADAA e Sl
observed in chemical properties the law
Silalaill (4118

of octave
e ey |
[ | [ |
| |
: o :
1 Predicted the existence of undiscovered elements Y cwlid) Al 2aCal e pualiall apag: b 1
1 1
- that were later found and its properties L -
[ | [ |
1 1
1 1
L T T T T T T e |

Arranged the elements in ascending order of G 2l e Baelad yaliall iy

atomic number



Q.12: a5l el dlul Sl bl - dalizall gasbazl 8)galy degezell Cilalxil Mark(s): 5/5

What is the correct ascending order of the following Anlld) ol s G paliell maaall (gaeliaall caspll L
elements according to their electronegativity values? fleia J81 400 sl
(All the elements are in the same group) (Ao sanall utl & 2 pualiall xen)
Te o Se s Sy
Element symbol
52 8 34 16 e
Atomic number

Learning Outcomes Covered

o CHM.5.1.01.009

(Lowest) S —» Se——» O ——» Te(highest) (V) Tee— O «— See— S (&)

(Lowest) Se—> S ——>Te —— O (highest) (u__lr,%”) O «—Te «—S «—Se (Js‘!l)

(Lowest) Te—» O ——>Se —» S (highest) (‘;L-.S"-) S+—Se+—0 «—Te (Ja\n)
Sy ————

(Lowest) Te —»> Se——> S— O (highest) (=Y) O «—S «—Se «—Te (&)



Q.13: (igyiSIVl iyl ggall oeST bl Mark(s): 5/5

The atomic number of zinc equals 30, and its electron S gl alg 30 gslun Gaa Al (A1 aal)
configuration is 1522522p%3523p®4523d1° 1522522p%3s23p®4523d10
Which of the following is the Pseudo—noble gas ¢ peaiall 138 Os Jall and S cuip o Sl lea

configuration for this element’s ion?

Learning Outcomes Covered

o CHM.5.1.02.022

1s*2s%2p®3s*3p°4s*3d®
o
| 1s°2s*2p®3s°3p°3d"’
1s*2s%2p%3s°3p%4s'3d’
d.

1s*25%2p®3s”3p®3d’



Q.14: 39l Jgazdl (b duasip)l Sljall Mark(s): 0/5

Learning Outcomes Covered

What is the name given to the block f elements in the frandl jalie le Gl 3 2 L

periodic table below? sl sl Jgaall A

o CHM.5.1.01.008

d.

Inner transition metals Agdalall Adlay ) culall
Nonmetals s
Transition metals Al alylal)

1
1
1
Metalloids M olud .
:
1
1
ol



Q.15: (wigUl Spall (w8 Sligs¥l cagiyig duigaVl oulgyl ooSi Mark(s): 5/5

In the formation reaction of calcium oxide shown in the Lolal Aleall aie ot sl agadl<ll 28] (St Jelin B
equation below. Which of the following is correct? fraaia ‘;‘\Ll Las ‘_m;i

[Ar] 4s* + [He ] 2s?2p® — [Ar] + [Ne]

Ca o
Learning Outcomes Covered
o CHM.5.1.02.022
[
| |
a., .
: Two electrons are transferred from calcium Ui ga Ugl Cu_u‘é) PRI SR PR g it :
' '
- atom which becomes a positive ion .
' '
| |
1 1
-
b.
Two electrons are transferred from oxygen i ge Gl ?ai} ey B3 Cpa iy <) Jiy
atom which becomes a positive ion
C.
In produced calcium ion, the number of electrons By Gilig ATV das 6% =0 4 guallsll Gl o
is 2 greater than the number of protons 2 ey Giligigydl 2 e
d.
In produced oxide ion, the number of electrons Jil Gilig fCTY e ()65 Sl 28N i &

is 2 less than the number of protons 2 ot @lighs gl a2 e



Q.16: )9l Jgazll lis Mark(s): 5/5

What is the sublevel that can hold a total of 6 0580 6 2aad Al (£A) (Stuall Gt e

electrons?

Learning Outcomes Covered

o CHM.5.1.01.008

a.
s
%
: P
C.
d
d.



Q.17: &ulidl dugaVl OlSyoll guo LIS

If you know that the element oxygen (O) belongs to
group 16 in the periodic table, its atomic number = 8
What does the Roman numeral(lll) in the name of the

compound chromium(lll) oxide mean?

Learning Outcomes Covered

o CHM.5.1.01.013

The chromium atom gains three electrons

The oxygen atom gains three electrons

Mark(s): 5/5

16 Zegenall ) i (0) foaesSY) peaie o cuale 13
8 = .__QJ.JH a.J_‘u:-3 ,__g_)}.ﬂ‘ -Jjj‘;ﬂ %j
el ped (B (I1T) lag Il (B0 diny (31 Lad

oI ag S0 sl

alig g8 A ag S 5y aas

culig Sl A Cpa YY) 5)3 oSS

The chromium atom loses three electrons

The oxygen atom loses three electrons

i ) A g KU 50 28

g AN A eS8, 2k



Q.18: dalize duiwzwSi QU_g;_i go dgSell OlSyell guo 4US Mark(s): 5/5

What is the formula of a compound formed by el el ‘.Mi gl e pSall ) el dia e

aluminum and sulfate ions?
Learning Outcomes Covered

o CHM.5.1.01.013

Aly(SO.),
| Al SO,



Q.19: - dalie &Sl Sligyl go digSell SUSyall guo GUS Mark(s): 5/5

What is the name of the ionic compound with the Lipall ‘_‘,_155571 Sl e sl (A AT L

formula Ag,CrO,? ¢Ag,CrO,

Learning Outcomes Covered

o CHM.5.1.01.013

Silver chlorate Ladll iyl

1

1
Silver chromate Ladll Cilag S :
1
[}
1
1
o

Mercury chlorate SO ClyelS

Mercury chromate SO Silag S



Q.20: (igyiSIVI iyl 8y31 jUnsl Slail b 8ygallg degazall Slalxil bl Mark(s): 5/5

Which of the following figures shows the trends of the O JEPIA (oAl Al Chat Glalad) g A Jesn Lgi

atomic radius through both a period and a group? Pdc ganallg 8y5all

Learning Outcomes Covered

o CHM.5.1.01.009

a.
Generally increases
u_,.nb .'i'li_}f
9  ——
@ — -
<
@ 3
o "
S A
=
T 1
c .3
Q
O
b.
Generally decreases

[+

Generally decreases
gas Rl



Legosc

Generally decreases

>

o vofn

saseanul A|jessuan

Ul_,.ﬂ- .‘I'lJ_'H

Generally increases

L

S9Seal0ap Ajjelauss




